(PEP— ia_s In Ny \/ir\s)3 Yo Co\\ow\r\% held :
» 0.a=0 =00 @/ N\ oeR

D EN () = @) (-b) = —(ab)
D 1eR M —a= (Do
5 \F \e’l27(‘1|"\1——t-ioz,> Hn |#0.

Def O\,\D (= R"SJO\V‘L SCLO dwiso»r_s £ o\o = O

CO\ | " ” € = bfo st . do = 03

\S o~

'E._ﬁ'- R= r’\y\_(.“‘)

( © 6 O
A= ]: J \O=[ ] - ov=0
6 o o |

Ex: K= Z/V\Z ¥ n o is c.om?csilf, .
nzo.e = [od-Ibl=I[nl=[c]

R las =20 divisers

"l (S um\\-q.\’ Cova\U\\‘LL\'Vﬂ) %

ek A ring R s on if_\\fc(]r_o_\\ domain  if
Wos o geo divisers.
Ex! - Awg Reld.
- 7.
- Rings inside sdolelds & C.
Rep 43 A Qalk inkegral doemain i3 a Qeld.

'E_C: %12-—3’2
b ab

brc —> alb+)= ab+ oc = ¢q(b‘)—r¢o\Cc7
ke (d)=2blob=0cf=56% (o nd o 200 dwiser)
= & R-13 — R-fob s iechie > suigchve
> 3b si. ab=4. 3 a4 is ekl

C—o_\r _LiLfZ Z/PZ ‘\5 a (:\Q\O\ ;or 0\\ PVI\MS ’P.



Def Givr o ikl rig B, H goup of udls BT s e seb oF al inwbile
doubs (1ol FbeR olozba= 1—). '%mup wde- mulhplication .
Ex: (Z)=3+13
(FY= F-ist , T oGdd
(DY = D=3, D a duision ving / skew Felé.
(¥ s o Funcher
(Y Ring — Hop
D A hecemargham of Rigs is o Ankes £:R—S siL
D Fis a \,\aMomor?\Aism of e Ur\dvlacv\& addihve 4o
D) £lab) = £ ele)
[ € RIS e wib, fO=0)

uf/\%?g —> Hep 15 a fndoe
fing w/o 'nah\n'\\a
(V" Kﬁg,\g__e B [£:X=S | abe R, Hn £, £0) GS*>
B o fctor ob=| = F(o\”\o> = €)=
£ o)
Def A subset T of R s on e f
D T s an  oddihwe 5.
D Y relR, (e, ree, (r e L.
Rep B5: 1€ K s He fawrmd of £:R>S, K K is an ideal,
T e K, reR, Hu th ek YweK.

CleRY = £O)-HR) = )0 = O vy ey 4.
Llary= W) €D = 0. (D = o.
I T is on Wded, M e s o r't'v\a Soche on /T <d.
R—>R/T 5 o homomorphism.
Rfr = R/~ a~bv £ o-vbel.
Noelon, addikhe qrow = B/z  : [al+[b] =la+kl



ol-|bl = la
[\—_joﬁ ,j fo-b ] (a-b)—(d.v) e L
o= BT L,je T (q.\zJ)—- (Q+L>(b +'D

b= b+)
: CORCHRONHEQ)

=——(a{.“b+c:“:>+i;r3) e T

N

T T T

£ \F T e on  ided, H He c\uol‘\e/\{' of R \03 L s R/z

——

W [ad-Lbl =L\,

f\lwup Z—l_é'- \g‘ T is o~ \aea.\> Han L s . \szz_\ o@ ‘H—e MaAp
i —92/1
o +— Tal

—[_‘\’_‘i" ﬂ 4 W— \C S A\ \r\omomor?\m'sm ’_]Z'_’g; -HM\ ?— \'néua..s on ;somor\:\nisvv\

)iy — T S

B Ryt — In(®)
] — £
Fa3067) = £(TabD) = £Ca) = £ - £0b) = F(IaT). F (rom).
It ot Cor qrovps D f s o 4, edke  homomerphuanm of

~

G oVPs, § 05 o lom of rnas = }fy o\ (S0, 7/
Pop 48: /T \as o univirsal 'pm\av\'\a: v §F:R=S hos w®©=2T,
e Hoe 3 o SRS ap T LS S s.t.

TLI—%S

~~

£
Pel: € T ond T oe Geds, Ha TAT s o~ idal |}
T+3=3 0+ lieT, jeT8 &5 on 1o
T3 = {L-J' +L‘-j‘-e... l LL')e:C) ")(-Bc—:sz s oa ideal.

Tem 432 T3/ & T/



e 50

R)r =



